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Actual Test 1 Passage 1
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MA z|Zzo| S For over 100 years, the cinema has been one of the most 100 G Hat= BE HEES MRS 7H

ol=9lc tE=aix|zt ot popular forms of entertainment among people of all ages. 7| B2 2ol ez EXfshuct. 1947 /ol

2x™o2 gt During the years following the invention of the “moving 20l MEIo| LHE & H &F S ot A
photograph” in the nineteenth century, the art of filmmaking ol 7lag iR el HotERlch esgn &
changed as rapidly as it did dramatically. Many technological 2 FotE V7K HE TlaX Yrs0| ge
advances were required to create cinema as it exists today. ot olzfet EXM & & X HmREs Fatol B
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the motion picture, was actually more for scientific purposes =2 20| EHE ZoIict 18783 o=f=
than entertainment. In 1878, Eadweard Muybridge used HESIX|7L MEzoz dajz Lol AIRISE o
multiple photographs of a horse galloping to create a loop of Y AI8st ZES UED O= ol T
film. He wanted to prove that horses lifted all four hooves off oz g3 mf Yl JHel g0l 25 SAlof Hi=
the ground at once when in full gallop. When he rotated the film oM "ozt A8 Sdstaxt ok 27 &
across a light source, he was able to create what appeared to Holl ZES SITAIA HIFNE W To| AX =
be a real moving image of a running horse. He proved his Holz 2&S U0l E 4 oUdt J= %t
point, and an early version of the motion picture was born. 2USS YYD 7| 3ot BRI
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The next significant advancement in motion picture technology
came in 1887. Q4 After inventing the phonograph ten years
earlier, American inventor Thomas Edison wished to add a
visual component to his popular musical device. For this job he
commissioned a young laboratory assistant named William
Dickson. @8 The finished product was called the kinetograph,
and was the world’s first viable motion photography device.
Dickson paid close attention to detail, making sure that the
quality of the machine, and the images it produced, were top-
notch. @2 The films produced with the kinetograph at Edison’s
studios were less than a minute long, and consisted of a single
shot of a mundane activity or repetitive motion such as
dancing. What was unique about Dickson’s work is that he
simultaneously developed a projection device for his films that
could be mass-marketed for film viewing. F] This machine was
known as a Kinetoscope — a large wooden cabinet containing
a light bulb and a short spool of film inside. Q12-1
Customers could pay a nickel to look through a small peephole
in the cabinet and watch a short film. [8] Despite the
machine’s obvious limitations, it became a huge success.
Q12-2 In no time at all, Kinetoscope parlors where people
could view the films sprang up all over the world.

Q5 Over the next few years, experimentation with motion pictures
was relentless and feverish. Many important contributions were
made to the art form that were essential to laying the groundwork
for modern movies. Drawing on the success of the Kinetoscope,
Auguste and Louis Lumiéere developed the first device able to
project film images onto a screen. Soon after its first
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Actual Test 1

Passage 1
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Actual Test 1

Passage 1

demonstration in 1895, Edison’s staff built their own version of
the device, and film projection came to the United States. This
allowed for the public exhibition of films to large audiences, and
gave rise to the first movie theaters. Q6 As the movie theater

Aol I
- O ATl sl gained in popularity, films continued to change in order to keep
2iArst 4 ol = audiences enthralled . Films became longer, and came to
o= T M [=]

include more than just a single shot.

Editing techniques made films of this time more sophisticated
as filmmakers learned how to intercut scenes to imply either
continuous action between different locations or the
development of a second storyline that ran parallel to the
primary one. The Great Train Robbery, released in 1903, is
considered a landmark achievement in film editing, due to what
was then considered a rather long and complex story for the
medium of film.

EM2|g 53
* The Great Train Robbery
(1903)

2N F3l0AM SAYE2O| Despite these innovations, however, motion pictures still had
Egsl many limitations to overcome. Q8-1 Q9-1 For one, filmmakers
® had yet to discover a method for putting sound to the images.

The task of recording dialogue and music, then synchronizing
all of this to the action of the film, was still beyond early

EPNEISIPA S

. 027t olxK} QAAER} filmmakers’ reach. @8-2 Q9-2 As an alternative, they
e e included occasional subtitle cards to help tell the story by
—= o

cBiAfO| 2ARIZ 0|2 displaying dialogue and narration. To supply music, theaters
— — == = =}

hired organists and sometimes even full orchestras to play
music that suited the mood and pace of the film. In other
countries such as Japan, movies were even narrated by a live
narrator called a benshi, who also performed the dialogue in
the voices of the characters. Slowly, however, flmmakers
gained the ability to incorporate sound into their movies. The
most famous example is The Jazz Singer of 1927, a mostly
silent film that featured just a few minutes of singing. Despite
their popularity, “talking pictures,” or “talkies,” were rather slow

* The Jazz Singer (1927):
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to catch on in the industry. Q11 They were labor-intensive and

expensive to produce, and many studios were reluctant to

make any changes to the still lucrative silent format of their

films. But as the technology became more advanced, and the

cost went down, talkies came to rule the film industry, and the

era of the silent film faded into history.
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@ Editing technigues such as intercutting made films of this time

more sophisticated @ as flmmakers learned how to intercut
scenes to imply either continuous action between different
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Actual Test 1 Passage 1
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374z 2% Mo| AUS0= EF6tn 2 43S 7HFUCL Aol efofl= 11 714l(the maching) @l 71&X StAE0| L,
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2 ol S0i7t= Aol MAEsiD, 4 2&< “this machine”=

di=2(mof 22/5t0 2dS FIIGAIL.

Q12-1 Customers could pay a nickel to look through a
small peephole in the cabinet and watch a short film.
(EHet ALEH)

el 2%  Despite the machine’s obvious limitations, it
became a huge success.

—

Q12-2 In no time at all, Kinetoscope parlors where people
could view the films sprang up all over the world.
(FIHEATIZO| HNAX &3)
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Q16| Precipitation is essential for any type of farming, and
since the development of agriculture man has attempted to
gain influence over or to control this life-giving phenomenon.
For much of human history, such efforts have been the
province of shamans, witch doctors, and priests, who have
sought to enlist the aid of the supernatural in bringing steady
and reliable rains during the growing season. ' In fact, in many
earlier societies, the great authority afforded to such
individuals was explicitly based on their claims to supposedly
command the rains to come. In modern times, most
societies have turned away from such superstitions. [FJ Rain-
making efforts continue today, albeit under the guise of
science. Modern rain-making efforts center around the practice
of cloud seeding, in which certain chemicals (usually silver
iodide) are released into the atmosphere to induce
precipitation. In order to understand this process, it is first
necessary to understand what causes precipitation under
natural circumstances. [8)
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Precipitation requires two processes to take place inside a
cloud: condensation and coalescence. Condensation occurs
when the air in a cloud cools beyond a certain point. Q18
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Clouds are essentially masses of air saturated with water

62
f

vapor, and the amount of water vapor that the air can hold is a

nr -4

function of temperature. Warmer air can hold more water vapor,
while cooler air can hold less. Thus, when a mass of warm air
cools, either as a result of a collision with a cooler mass of air
or through some other process, its ability to hold water vapor
decreases. When this ability drops below the amount of water
vapor the cloud actually holds, the cloud is said to be
supersaturated. Q17 At this point, the water vapor will begin to
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condense into tiny microscopic droplets.

While the supersaturation of the cloud marks the point at which
water droplets begin to form, it does not always result in
precipitation. These initial water droplets are so small that the
force of air resistance and updrafts of wind are sufficient to
keep them suspended within the cloud. It is when these water
droplets begin to combine into larger water drops or freeze into
ice crystals, a process known as coalescence , that they gain
enough mass to fall as either rain or snow. Q19 In order to
coalesce, however, these water droplets must first have
something to coalesce around. Typically, this is a microscopic
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province 2 o|o|7} 7HE} H|RE H27?

(A) specialty (M= £of)
(B) attempt (A=)
(C) knowledge (X))
(D) religion (&)

K20 EAIE 2E2| F2 HEE 71E & #lols 22 TS S 0l
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F2 g=ItHelE

=9 SHHZ0f UThAC
A

o
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z
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[ = o =2 =2 [

(A) &2 227l Hatsts X

(B) 7E 250 7| 227t BOjKI= 2

() 457|228 2W20| 5= %

(D) 43710] TZfol cHet Haf2

= ) R0l ZABoN 20| HEe?

(A) 2= 7E olof A= 257 ¥ HHBICt

(B) Rt A2 BYSREE o 2 W0 Yol BAELLIS ZHsiC
(C) 2= SW20| T N U= YAFI= HYSES DHS0fHiC]
(D) 2= BmsiE 20| oIF UG £20= T K12 BRI

SO Bict,

=
2y &S :1010F i

14

15

16

17

18

19

[Vocabulary]
province = & £0f 2t= 2lof7} Qlct 0] 58 LIEHAD Q= BY|=
(Aolct,
[Sentence Simplification]
HAE 2EE SR 882 LiF0] M2stH ¢ olsiE 4 At 1y
AlZle] WA X=Xt 717 HHE 250| HIE thAZ & Qltk= o
ZA3MCH= 0| o] 2E<| ey LiEoIC, =29l oIS 7HE H £71 A2
@©oict
e aclf AtSoflA FHRlof A =017l EEE
2 in many earlier societies the great authority afforded
to such individuals | i 1
HHE 23 The powerful position of religious figures in early
societies
=5 HIE SHE 4+ UACk= FEof 7[|EHst A0[ULC
HE was explicitly based on their claims to supposedly
command the rains to come.
HH# B3 was primarily due to their claims to control the rain.
[Rhetorical Purposel

F= Q16 “...
of agriculture man has attempted to gain influence over or to control

£, OIgAL SAIXEE 21g 8t 0] since the development

this life-giving phenomenon.” 0l Al && 4= QLY.

[Factual Information]

Q17 “... the water vapor will begin to condense into tiny
microscopic droplets.”0ll M &2 &S 2ot ATk

[Factual Information]

Q18 0ilA FE0| 2T0} & 4 U= #5712 Y2 2=0 HUACH Bick,

[Factual Information]
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Without the presence of such particles, precipitation is nearly
impossible. In fact, in clouds without these particles, condensed
water droplets may even drop below the freezing point without
coalescing into raindrops or snowflakes.

It is precisely these conditions which cloud seeding seeks to
exploit. @20 In cloud seeding, super-fine particles of silver
iodide are released into a cloud in an attempt to initiate
coalescence and thus produce precipitation. The silver iodide is
typically delivered via a ground-launched rocket or a plane that
has been specially outfitted with cloud-seeding equipment. In
either case, the process is the same. If successful, the water
droplets will coalesce around the particles of silver iodide and
fall as either rain or snow, depending on temperatures closer to
the ground.

Q21| While cloud seeding works in theory, its real-world
efficacy is more open to debate. |Q22(A) There are
undeniably cases in which cloud seeding does produce
precipitation. However, it is often impossible to tell whether
greater amounts of precipitation occur with the aid of cloud
seeding than would have occurred naturally. Moreover, cloud
seeding can only work when cloud conditions are already ripe
for precipitation; that is, when a cloud is already
supersaturated. In instances when this is not the case, cloud
seeding is powerless to produce rain. |@22(C) Cloud seeding,
for example, may initiate rainfall in temperate climates, but it
would be a futile practice in desert regions. |Q22(B) Another
drawback is that cloud seeding naturally results in rainfalls
laden with silver iodide, which can be toxic to vegetation and
wildlife in high enough concentrations. Despite these
limitations, cloud seeding is a growing practice worldwide.
Currently, 24 nations, including the United States, China,
Russia, and Australia, have active cloud seeding programs.
Q23 Some of these nations have begun to experiment with
materials other than silver iodide in their programs, hoping to
find a method of cloud seeding that is more environmentally
friendly.

precisely Xst5|

futile A2 gi=

exploit 0|25iCt  outfit ~2 ZZ5iCtH

drawback =& toxic S449
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Passage 2

20

21
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23

£i2t 40] m2E 7S A al7|oM R2C5e0| Kge?
(A) 222 Yt sict

(B) 75 otofl U= +57/22 st

(C) 75 otol thy| 258 Hstxoz Wy

(D) Zete S=ot

efficacy et o/0|7t 7hat HIA3H 2427

A) reliability (A12]A)
>51M)

TS o

(

(B) usefulness (
(C) safety (2+F4)
(D) commonality (E254)

T2 501M 5 M &

(A)TE M ta)7| ghele AeE o] gich

(B) 7E M 7|z X2 & HstE HE RYsiX| Y=t
(C) 7& M #2717t & Al 7152 Leloh=s A2 Ot
(D) #& Ml H2|7| H80] HF FO0tM HEX0|X| Qict

02| =Z7+S0| 75 M 4

gapjo 2st e M=2E H1 U= 01fs?

20

21

22

23

[Factual Information]

Q20 0N 22E=3t 2 (silver iodide)g #al= 242 ZEl(coalescence)S
=}

LOAM H|7} HE2|=5 RE57| @02t Leic),

[Vocabulary]

efficacy °| 2loj= Q21 “While cloud seeding works in theory, its
real-world efficacy is more open to debate.”0|lAl Z&E Tl E20|
HAE 0|21 JUABE LH & F5 £ U0k 78 M H27|= 0|12X
S2E It AH© eff|cacy £ =29 o7t Uk EC 2R EH
12 ol AXE St A= X9 o F

/\II

OII

“efficacy”’= 0|24 g2 2=
olojot= AYs Y 4 ok oHA JHel B7] SollM o= JHES Ty &
grSt A2 (B)olct,

[Inference]

Q22(C) ollM 75 M H2|7|= 20 7|1F Ko ME FHs UXITE AlLt
|HoiME 227t glotn Ystoh HEe (O).
(A= E2 Z2o0|ct. Q22(A) 2| “There are undeniably cases in which
cloud seeding does produce precipitation,” “... cloud seeding can
only work when cloud conditions are already ripe for precipitation
LU2EEH O olg 4 ME0| 0|1R0M S Y 4 bk (B)e
Q22(B) Ol 22E=3t 20| 4101 H|7t LH2|H AlZ0[Lt 0FMESS0| SiE
US 4 Tt Yot L YR[6H| a2 FHo| E 4 Stk

D)= 2=201A & 2 gl= Higolck,

[Factual Information]

(A) 2ecsteEn o SRl HH2S 2isiA Q23 0ilA] U Z7HS0| ZIBAHEQI HHE 57| 5l 22C5+20] O
B) 22E=st2g F6t7(7 i oA T2 242 01F 422 Ageh| AARICD Ystn Qlot 0l RS}
(C) 22cst2g MYS 20|t HET| AFRZ7} HIMA 20| Z&HE Hl= SAIZ07 S1E7] W20|2tD Yol MBSt et
D) 22E320| 240 S42RS FUsHA
24 xi2ol U= U el (M) F off 2HO| S0iZ RS MEHFIAR 24 [Sentence Insertion]
HIE Li2|2{1 st= =22 ntsheE 71Eetz] XD LEH0E X|&E|n Are! 2%9| “Rain-making efforts continue today ...” 2 £E{ 0] 29
Ak S O ALSIOf M OIRO{TI 7|2A[0f CHEH LHEO| LEoto} SiCt AfQ) 25
= Eu "EHE §X1%|%EEOR;
=071 20| Soi7H7|0f T4 MmE 227 o urjderthegwse of science. 2 IES] IE \oof?i
HIZ Btes= 50| AlElofof Sict, w2t YLt B ol 4% 250 %[t
H=Z[mIE ARSHH 2XE FII5HARL 2 e, ol AUt e 20| 7zl 71 = il B
olc
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Actual Test 1

Passage 3

Planned and Market Economies

Historically, the economies of most cultures have fallen under
the umbrellas of either planned economies or market
economies. Q26 Planned economies are those in which
production, 'allocation , consumption, and price are all

A2 Fret A BH

@ 7=l ZH: At 2] 4],

preplanned, and theoretically all aspects of the economy are
guided and controlled. @27 Market economies are those in
which these forces are determined by market considerations,
most notably the interplay of supply and demand. These
economic systems traditionally function in very different ways,
and each carries with it its share of positive and negative
consequences.

2071 A= ZH =7tEe 28 Q28 @Q837(C) In the 20" century, planned economies were
mostly associated with socialist or communist states, where the
government controlled all means of production and made all
major economic decisions. In most instances in the 20"
century, this was not very successful on a number of levels.
Nearly every communist government that arose in the 20"
century has either failed or been forced to adopt some
elements of market economics in order to survive. The former
Soviet Union represents an excellent model of the strengths
and weaknesses of a planned economy.

A0l A|lE ZAMQ MIZTEQI H When the communists finally gained control of Russia and

M EZ0i2 Zxxjoz LM created the Soviet Union after the 1917 revolution, they were left
ABS WE 252 A0S with a nation that had been crushed by war and was far behind
2712 £okAZ Europe developmentally due to the mismanagement of the

@ 29} ExAl HiHoz W Romanov tsars. Q29 Lenin, and later Stalin, took direct control
S0l FExoz SAAZ A over the economy and its development, pushing the rise of heavy
o = d —— o =
ololo industry, particularly steel production, to a frantic pace. The result

was that by the time World War Il broke out, the Soviet Union
was a fully industrialized nation, and its huge industrial output
likely saved it from being overwhelmed by Nazi Germany during
the war. Thus, planned economies are able to direct their efforts
to areas of dire need due to their central control.

A AE ZH7E difst o @30 Yet, the Soviet Union also illustrates the |pitfalls of
planned economies. During some periods of Soviet history, the
Soviet people suffered from starvation and shortages of basic
goods, even when there seemed to be little logical reason for

7= Zr7E M2 | x| =

49 B3| Y 0150
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(GEEES such shortages. This was a result of what economic theorists
term the economic calculation problem . Q31 Q32 Q37(A)
Q37(F) In order for a planned economy to run smoothly, its
coordinators must be able to forecast fluctuations in demand
and supply accurately. In large, complex economies such as
those of the modern world, this is often difficult if not impossible.
>
S
g umbrella A5k 2S production At allocation 2Hi{  consumption AH|  preplanned oO|2| &s{iE!
% demand £2 share & socialist Af2|Z=2/X}  mismanagement 2%l 22|  heavy industry £2¢
g pitfall 8/  starvation %32/  coordinators Z&xt  fluctuation 215}
—
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Passage 3

26 allocation =t 7} ojn|7t H|& 3t 2427

)
el

(A) distribution (&8
(B) identification (&t
(C) transport (%)
(D) exportation (=)

27 2ol AR Frl = 2900 s KIHEl=7t?

28 this 7t 2ojsts 2#2?

( S Exlst= A
(C) ANE ZHOIM A& Hrzo et
(D) HRIM MES 2lsll AR ZHIS Metists 2

29 ozt 30iM AL Azlo] S0 chel T 019=?
(A) ABI0| Lix| EUS 2217 2H-S MEH5L7| s
(B) A2 ZHE ZH WH HES 0|7 4 Qls S2i2 Mosly| sl
(C) RE A2 ZR|= ARistol TR MM EMRICHD Ust7| 5
(D) B AtRIo) ZK| ZHAIZMC| 5SS AEE1| sl
30 pitfalls 2t 2o} 7 BlASE 227
(A) weaknesses (F|2Fd)
(B) side effects (£%2)
(C) alternatives (Cih
(D) blind spots (W)
31  ZA AN 2/ 7 wasis oj9s?
(A) AZZHE A SWsHA| 2ate HEo| 25 120
(B) AlSOIH 712 222 HZ5ix| RalAl
(C) OrHE MAIES SX[5H= S240] Q01N
(D) 3 ZHolAl Dl2He] 222 o=

32 fluctuations 9t o|o|7t 7FEl HILSH 7127

(A) decreases (£2015)
(B) stoppages (Hx|)
(C) variations (3}

(D) complexities (27A)

26

27

28

29

30

31

32

[Vocabulary]
allocation = 28" 9 o/0|7t QUct. o] E£S LHEIND U= BI|=
(A)olCk,

[Factual Information]

Q27 Ol AHZFOIME ol2f5t ElS2(dt 2u, AH| 7tA) &2
Sa(supply) @t &2(demand) 2| M4SAtE0 22 AEA Mol ofsh

Z2YErt Lottt gge ().

[Referencel]

this = & 20N “... where the government controlled all means
of production and made all major economic decisions.”S 7}2|7ICt.
0| BES JIY & 95t A2 (B)oIch

[Rhetorical Purpose]

Q29 Ol M 2t AStEI0] HANE AlY HY, X3l 53 202
=22 452 SYAZ AL O20] 7HNR2 2Rl ZuE Yt OF,

2t opx|at 2XolA “Thus, planned economies are able to d|rect
their effort to areas of dire need due to their central control.”0|2tT
42 Ao oIt metd Aol Z3YUS AZe A2 0l 2E ZES

=
LS| flolct.

[Vocabulary]

Q80 2| & 20| “Ye'22 Alxfs= i
TiEe @ 4 otk @ Se A8 FHel BEol th Hstn
2kA Olgofls B0 Thet Lol
“pitfall”e| ojoj= ‘TR o|ct HES (A),

>_\H_
HU
H
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IS)
m
i
i
rD:
=

[Factual Information]

Q31 ol “ZA| ALt 2 of chal A

S £22 29| HIE Fete| tlEsH0f st=d|,
HHo A= ol2{st t=0] 0HR oF

[Vocabulary]

At “forecast (OIS ot ol A
Rt 4 Ut 278 WI%?*EFE A2 70| BYUgio| Hetstth= A
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Actual Test 1

Passage 3

Thus, while there might be a great demand for shoes, shoe
factories may be left idle because the economic coordinators
did not forecast that demand and failed to ensure the supply of
precursor products, such as leather and rubber, required to
produce shoes.

et 271 2 mole A 3

2bf Ao
Se JlSS 9F 45 ld ZN RSO
1482 oiEsix Roln ALS tiebr Z
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| |
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| |
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| |
| |
| |
| |
I I
KHEZ0lo| A& mt CHA i Market economies, like those of the United States and many i O|=20|Lt o4 CH2 21 2151 22 AR 4
@ &E: HAOIM 28t 2 ! other democratic nations, present a different set of advantages | Xloilk= A2 Zxiets o2 & - ©™ES0] Qlct
0|2 x4x|5t i and challenges than those of planned economies. Q35 Market i ANZE Qe 20M17] ARIR2E 0|29 HXl= Q
© o Bl ZAHel HXLIA ! economies have arguably fared far better than planned LoXEE el FHEn ZW g3l o=
AO|Z(33H 25t0| Z7))7} i economies §|nce the beginning of th'e 20" century. The Umteld i SOl AMEE T =27 }% Maatom x|t
=5 ! States has risen to become the leading economic power, while ! 309 EAl A1 ZAof 288t gHIE 7HEl E=
! China, whose economy has come to closely resemble a market | 2 O[X| F8s| He2= ZXS0Ict 2Lt
| economy over the last thirty years, is undeniably a rising star oolefet FHN MZe AYSH t7IE A Y
i on the economic horizon. Yet the success of these economies i D=2 TEXeR 26 RIS ARt e,
| has come at a price. Q37(E) The United States has | BEY Al ARED MBS SIRES A0[Q
i traditionally had a significant wealth gap, and the gulf between i Zipt oY o2 AxD ek B 2248 AtE
! China’s urban upper class and its rural lower class grows daily. | & OFE2 AE ZHE 71 diR2el 230
i FJ Such social frictions present a significant challenge to most | 425t 02188 &t Al ARt s ZsHok
i cultures with market economies. [ Nor are growing social i St EHIE2 AtEIZ 29WSTo| ofLch Al
| inequalities the only challenges market economies must | BHle Eot Bl AoME o5t stZol F
i deal with. Market economies are also notoriously susceptible i e He Aez oFol w20l 0|ds &7l &
! to upturns and downturns in their prosperity, in what is oozt 227|w sict [BY AlE EHrE e
| sometimes called the business cycle. [)] Q37(B) Since 5l 220 ZFo2 QEE 10| w2t ARIS0|
i market economies are guided entirely by supply and demand, i HMZ0| X[ZstH1 oh= thz APt U2 2ot
| and since prices are thus inherently subjective, with | oIEE JtAE FEH0|7| m2ol A BXlE 2
i companies charging whatever people are willing to pay for i Aoz MEHEQ QAo= XIHEILE AH|XtC
! their products, market economies are essentially ruled by 1 20| ddHez J|H0] gle ANOol2tE AH[Xt
| people’s perceptions. Q34 Q37(A) Recession can be Lo MEIE st ol £47I= 7iHel Rots
i brought on by a simple drop in consumer confidence, even if i = QlCh 0|2 ol=ol MAS] X=Xl AX
| the concerns of consumers have no basis in reality. This is | = RAlGE XRe= FriMez 27IE A
i illustrated by the fact that the United States, which although it i o X AMiZ7jof YL EES A2 AROIA
| retains its status as the world’s leading economic power, | =ittt
| regularly undergoes periods of recession, and suffered a |
i devastating depression in the last century. i
| |
I I
I I
1 1
1 1
| |
| |
| |
| |
| |
| |
| |
| |
I I
I I
1 1
1 1
| |
| |
| |
| |
| |
| |
| |
| |
I I
I I
1 1
1 1
| |
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Passage 3

33 xi2olM BAE 230 72 HEE JIE & Bl 22
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(A) AIE ZHI7t 222 SE22 0|R0XIBR 1 7HA2 MRS 2140

=

Ofall X|HHE|7| 2rt= =2l 20T

(B) BXI7t 20 S5 7|ECR sIB2 ATt Fol= 7HAE2
ARHES] 2lAlof HFE B HlwX SR6HA| Gict

(C) AE dHl= Algel glut FxQl JtAxZ0f X[HiE 7| wZol
ARES] 2IAlof 2lsl X|HiE Z=Ct

(D) =22 S2] Exlo] 1R Hete om AEal QAo XHIE
2] 2ol SIAES A—FE0] A ZH0IA XI=5t2xt ok
FACZ 1S 0Z 4 ACL

34 o2t 5ol Abixiol oish 2 4 Qs H2?

>

) AHIXI= 712) ZHo| 0} &2 61| =ct,
(B) AHIXIo| ZH ol CHEt S2i7} 28iel=Y te It
(C) AHIXE AlRIET} H2 Z40] A 2247]2] Y0l0| =it
(D) AHIXK= glIso] Zxi7} 2{X|= Zof ZHAJO] gict
35 ozt solM AR HRlel xe AEoE EuE H2?
(A) AP3| 2= 3/n/Et
(B) org=oln] 27717} Hz gl
(C) M7 ZHoIA Blm= 28t
(D) A BRI 51717t 412
36 xi=ol 9= ul Mol HiZ(M] E off 2H0| S0{Z S MEiSA|R.,

A 7t sliZsliofr sh= EME2 AtEIX 2ZSTHo| ofLct,

33 [Sentence Simplification]

=2 AMe2lE 22 offiel 2ol Nl 2L

AEC] IAoll Qlalt Kbl =l= FMAK 2= 20l 2 LHROII'_ @t Q= o
AZBH7E AdS2l QIAof Qlalf Xt == MAMRUX| 1 0|RE 246 =2

LiEolct.

@ Since market economies are guided entirely by supply and
demand, and @ since prices are thus inherently subjective, with

companies charging whatever people are willing to pay for their
products, @ market economies are essentially ruled by people’s

perceptions

@ =AIE Zrle 220 859 gzl m2ct

@ = (N ZH7t 229 339 Yo X7 feo) 7t 282
ZEFQI apgolct

@ =7t Z™o| F2H0|7| H2of) AT BHE ARES 24 ol sl
X|HtEict

2ol Ui8s 71 & &7 =2 A2 (0)olct. ... with companies

ni

charging whatever people are willing to pay for their products”=
@9 7tA4Z%o0| =xolet= FHoll sl A= 2T s AEN
Aol FHBICE

[Inference]

Q34 0ol M AHIX} AR|E GHaf2 A = H
ASOIE= =76t LS| STt Y5k AUCH K710 & 2~ A= A2
=

t
2HIXP7E ZHof thall 2{sh= 0177 &ESHAl e t= O

[Factual Information]

2t ettt o=t

Q35 0l Ay ZX= A= grlof disl 43%0
MIA BHOIM ASZHEC

S=0| MIA ZHl ti=ol2ks HE HIAIGH

Lt Zrl2ts AMS SElstD it

[Sentence Insertion]
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[Schematic Table]

(A)E = o st LEoIoh MYl 27 2 49 Q37(A) “Inorder
for a planned economy to run smoothly, its coordinators must be
able to forecast fluctuations in demand and supply accurately. In
large, complex economies such as those of the modern world this
is often difficult if not impossible.” t2f 59| Q37(A) “Recession can
be brought on by a simple drop in consumer confidence, even if the
concerns of consumers have no basis in reality.”0ilAf 5t 4~ QIC}
(Bl Al Zxoll sigshs oot MEel 27 2t 59| Q37(B)
“Since market economies are guided entirely by supply and
demand, and since prices are thus inherently subjective ...”0ll M &S
2 QL

(C)= A=ZHoll sigsh= Lot T2 29/ Q37(C) “... planned
economies were mostly ... where the government controlled all
means of production and made all major economic decisions.”0{| A

D)= BEIX| 242 Lgolct,

(E)= AZXo st Lgolch MEe 2H= t2f 59 Q37(E)
“The United States has traditionally had a significant wealth gap,
and the gulf between China’s urban upper class and its rural lower
class is growing daily.” 0|l M 22 4 lct

(F= A=lgxol 25t oot FEe 2He t2 42 Q37(F) “In
order for a planned economy to run smoothly, its coordinators must
be able to forecast fluctuations in demand and supply
accurately.”0llA 3tE 4 QAT

(G)= 28t WE0] ofLICE,

AE ZH

e (C)

o (F)

A A

L X(=)]

( X(=)]

=g

o (A

(A) 2IM RIS=E 215t ANX EXlS

(B) A& M=o w2 CHfst 7t &

(C) &Y ZH Xluf

D) A= 23t M 7+ & ALEE

(B) BI2 APt MIl= ZE0| U

(F) olzhel A&ts Mets| ofSsoF H8E 4+~ AU

(G) 2HIXt Hele XLt Z7IME0| BrEE
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manipulate Z=Z5iCH

N
g
N

Piaget’s Stages of Cognitive Development

Q1 By charting out the typical cognitive development of
children, Swiss psychologist Jean Piaget has heavily influenced
how psychiatrists delineate the progress of juvenile
psychological growth. @2 Beginning in the 1920s and up until
his death in 1980, he studied the errors schoolchildren made
on various tests and realized that children of the same age
made the same kinds of reasoning errors. Based on these
recurring patterns, he identified stages in a child’s cognitive
development, beginning from infancy and extending through
adulthood. @3-1 Essentially, he proposed that there was a
common timetable by which children initially develop simple
cognitive skills and gradually refine them into more abstract
ways of thinking. @8-2 While more recent theories on the
matter suggest that there is more overlap among these stages
and that different environments affect children’s progress,
Piaget’'s theory was nonetheless extremely important to initial
studies of cognitive development.

According to Piaget, the first stage that children go through is
the sensorimotor stage, an eventful and complex period that
Piaget further divided into six sub-stages. The sensorimotor
stage begins at birth and lasts roughly until the child is two
years old. During this time, the child experiences the world
through his senses and motor skills, and he will initially develop
and master the basic reflexes of infants, such as grasping,
sucking, looking, and listening. Moreover, the infant begins to
develop the fundamentals of basic cognitive functions. A Q5
He develops awareness of himself and of objects as separate
entities and begins to manipulate his external environment,
usually by kicking, moving objects, and chewing on toys. E
The child also learns that certain actions will have certain
effects, and he may perform an action to recreate these effects.
Q12 For instance, he may accidentally suck his thumb and
find it pleasurable, so he repeatedly sucks his thumb to
experience the pleasure again. [§] The child may also
experiment with different actions to test their effects, like
making various sounds to get an adult’s atteneion. Q4
Finally, the child also shows the basic capacity for
understanding symbols, and he develops a [rudimentary use
of language toward the end of this stage, most notably by
identifying parents with words like “mama” and “dada.”

In the next stage, the preoperational stage (ages 2-7), the child
expands his capacity for symbolic thinking, and he can envision
the environment and manipulate it within his imagination. Q10
Imagination thus develops more fully, as seen in the child’s

recreate Xf3i5iCt  accidentally $25|  pleasurable 7|2 Z£7| 5=  capacity
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1
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(A) encourage (&245tC)
(B) observe (ZHEFSiCH
(C) correct (B™stch)
(D) map (ZAfFSHC

ol Zxp} of2lo|E o= B

o

EE [obxI2] ei7tof| Chal it
olF=7
(A) motr|e] A gialo] ZARg X|&oh| £ls
B) a2l XIZAS 3t m(otx|e] S5 H
7

5
X 2Hat7] flaf
HEX Z0AF2| 2lsl

) LOFHI7H 19| 0|22 oL LA
D) motx|7t 18] ol22 ofEA| ¢itoll A&

;O\
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(B) 22 S01Al ol20] M7 |=l2ic

(C) 12 Meisis 252 prsgt

(D) th=& Cf2 X|ZAS9| #1718 Jlstoz Yot

4 rudimentary 2t o|0|7} 71 H|=5t 2427

(A) frequent (21E15h
(B) correct (25t

(C) immediate (ZZt%{Q1)
D)

D) basic (7|=%{Q!

THet 20 M 222 THAIQ| OofZlol= o WEAe| EAZ o7t
(A) A7 |BAH0| th=E Bt

(B) At JHEE olaiEt

(©) 719 At 53

D) 212 A2 ZXE QMG | AlRtE

[Vocabulary]

S2l0f HME FHE £ A= EHolct. Q1 oAl “By charting out the
typical cognitive development of children ...” 2t “... delineate the
progress of juvenile psychological growth.”2 H|28 LIS Ct2
HSIoZ Z0{ £ Z{0[c}, o§7|0|lM “delineate” 2| S2|04= “chart out” &S
& 2 QlC} “chart out” ot 7+ J17k2 Hol= (D)olct

[Rhetorical Purposel

Q2 0l A mOtH= HI=et AFH S 02101S50] Ao A H|et R
LFE dotu AU Rl M X L

ot ol2fet RFE EAMge
o)

=1
=
0lEgS LTAIZCIT Yot ATt FE2 (O).

[Inferencel

O

Q3-1 = = QK| LEoll tis mofd7H M2 01201, Q8-2 = =20l

=
A QIX| L 0|2 WEO0(ct z|4 0[20] m|otx|2] 0|22t Xt0|7t HTh=
HolM =58 4 s 22 (B)olch
[Vocabulary]

Q4 “... the child also shows the basic capacity for understanding
symbols ...”2t “... he develops a rudimentary use of language
2O ofZlolzt 7I2A01 7|50 ofel s3E BUS I AoAE 539
20| (e XIS MZ6tH rudimentary 9| 55 &AIE 4~ Qlot M2
).

[Factual Information]

Q5 0l M 0{2I0= AT THE AMt2E EHe EM=Z QA st 2[f 9
ES RRoP| AIRRICIT LiC) 0] WES 71 & &7 X2 D)oltt
(A), (B), (C)oll thet LE2 1g0] gict
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Answer Key & Explanations

egocentrism Xxt7| £41F0|  dimensional ~xI29|
egocentric XI7| &

Q= arithmetic A~ subtraction M| multiplication =

tendency to role-play other people (like his parents, firefighters,
etc.), and to pretend that objects are other things, like pretending
that a broom is a horse. This stage is marked by two other
distinctive characteristics. The first is egocentrism.

While the child’s language develops more fully for the purpose
of social interaction, his thought process is still limited by
individual experiences, and these cognitive limitations exclude
any alternative viewpoints. Piaget determined this when he
instructed several children in this age group to look at a three-
dimensional model of a mountain from a particular angle and
then pick out a particular scene they saw. Q8 All of the subjects
correctly fulfilled the task, but, when asked to pick out what
someone else would have seen when looking at a different
angle, they only picked out the respective scenes they saw. Q7
Basically, they were oblivious to the fact that a viewer at a
different angle would see a different scene, so they were only
able to pick out only what they saw personally. @11-1 The other
characteristic is that thought occurs in an illogical and irreversible
manner. A child can easily believe that things can magically
increase, decrease, or vanish, as perceptions often dictate their
reality. Piaget determined this from an experiment in which he
poured equal amounts of liquid into a short thick glass and a tall
thin glass and asked the children which container had more
liquid. The subjects often selected the tall thin glass because the
liquid reached a higher level and made the glass appear fuller.
They believed that liquid magically appeared to fill the taller
glass, even though they were told both glasses contained the
same amount.

Q11-2 In the concrete operational stage (ages 7-11), the child
shows evidence for logical thought and becomes less egocentric
in his thinking. He begins to grasp concepts such as mass,
length, volume, time, and other abstract measurements, and he
becomes capable of solving basic logical problems and
understanding reversible logic. He can perform simple arithmetic
like addition, subtraction, and multiplication, and his understanding
of how these concepts relate to each other increased.

Q9(A), (B) In the fourth and final stage, the formal opertional
stage (from puberty to adulthood), the child is finally able to think
in completely abstract terms. |Q9(D) He is able to perform
algebra, calculus, and other mathematics that utilize symbols,
formulas, and logic, and he is capable of other complex critical
and analytical thought. |Q9(C) The extent to which people
achieve this degree of abstract thinking is always different, and
some may never fully or adequately grasp these skills, even as
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[Sentence Simplification]
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% H2|E SHS ofefet 20| Al BROR Lig 4 Uck

@ While the child’s language develops more fully for the purpose
of social interaction, @ his thought process is still limited by
individual experiences, and @ these cognitive limitations exclude
any alternative viewpoints.

@ = of2l0|e] 2ol= AtSR M &2 o HE=2 S0 g=xoizict
@ = of2I0|e] AtmE= KpAlel ZBE Ol Helol =ete|ofUct.

® = 0| Z2 AIH9| 5t whRof EfRle] HEUA Allste RS 27t
Sofct

0] 252 @olA of2lolel 210 s3e MHstn @, QoA X sHof
chsll MHst=0l, @, @2 '0fZl0[9f Afn=ES XHlo| HE &0 =5t=(0f
QU0f CH2 AlZfe| HoME dztotx| 2t = JHEez FHalg 4 Ut
2ol M Ugs 71 & 271 271= (C)olch
[Vocabulary]

Q7 2| “... they were oblivious to the fact that a viewer at a different

angle would see a different scene”2t “... they were only able to pick

out only what they saw personally.”= M2 Z2 UES 2402
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[Negative Fact]

(A2t B 82 HFolct. Q9(A), (B) oAl HAIX x=E7|= ALE7|0A
gelof ol2e 71zt HRP7| 2o ge 717t & 2ot (C)= &K1 &t
Q9(C) oA AR =x7|9] 7t 2 EX0I FAXN AT 5H2 Al
w2t 21 20| EHME 285 /SéEEII\ Kotz 42R& Actn Lot
D= 2 Hdgolct. QD) oA i, D|MERS 22 M, A =22
0|85t £38 AfnE & 2 It ”E%fﬂ QL.
[Inference]
IEr | LIE2 MER &=l MZAIZ £ = 538 Fotsk= 2xo|ct, ©
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The Empires of the Maya and the Inca

Before any Europeans ever set foot on the American continent,
the region had already seen its share of advanced societies.
Some explorers would later note that a few of these societies
seemed to them as advanced as the Europeans in terms of
governance, art, and some of the sciences. Of all the pre-
Columbian cultures to rise and fall before the discovery of the
Americas by Europeans, perhaps the best known are the Maya
and the Inca. Both of these empires wielded great political
power and influence in their respective regions of the Americas.

Mayan civilization first emerged in about 1500 BC in modern
day Mexico and Guatemala. Q17 |ts early history is relatively
unknown to scientists because of a lack of written texts or
archaeological evidence. However, by 200 BC, Mayan
civilization had greatly expanded, and the gradual advances in
the arts and sciences made over the previous 1300 years had
led to an advanced society with splendid art, majestic
architecture, and a firm foundation in the sciences. Q26(C)
Mayan architecture is best known for producing giant step
pyramids such as the one at the ancient religious site of Tikal.
Q14 Q26(B) The Mayans also developed a complex writing
system not unlike 'that of Ancient Egypt, which they used to
record their history and legends. Q15 The years from 200 to
900 AD were the golden years of Mayan civilization, and the
period that has yielded the most information about Mayan
culture. This age of affluence and power would last another
seven centuries. The circumstances under which Mayan
civilization failed are unknown; around 1000 AD, their cities
were simply abandoned. Q16 Some scientists theorize that
drought or famine caused this swift dissolution, while others
contend that rapid population growth in urban areas had made
living conditions 'untenable .

By the time of the Inca, the Mayans had long ceased to exist as
a cohesive civilization. Q26(G) The history of the Inca Empire
can be traced back to the late 14th century, when a tribe native
to modern day Peru — the Inca — began a wide-ranging
campaign to conquer neighboring tribes and take control of vast
portions of northwestern South America. Q18 The resulting
Inca Empire began as a collection of many different tribes, and
as such, much of its culture was appropriated from several
sources. Little of this had to do with the arts or sciences. Aside
from textiles and pottery, the Inca had little interest in decorative
art. |@Q26(B) Since they had no known writing system, their
history survives mostly in the form of folk tales. Their rise to
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14 that of 7l2i71= %22

(A) architecture (Z152)
(B) a pyramid (z/2t0|=)
(C) history (HAh

(D) a writing system (=X} &

A)

15 affluence 9f 2jo|7} 745 Hl2st 2427

(A) control (X]8H)

(B) prosperity (HH)
(C) hostility (HcHz!)
(D) efficiency (28)

16 untenable T} 71 olo|7} bl23t 2427

(A) uncomfortable (2& 8
(B) indifferent (F-2tAI5h

(
(

=)

C) unbearable (7]
D) insensitive (£2}8h

17 ozt 20f 2stm 719 otor SiAtol el & LXIX| YU 019E?

(A) DIORRIS2 EXL AMIAIZE AUUS Xo| QUL
B) DIORIES &OfHHRICH
0] X

18 appropriated 2} o|0|7} 7}E 717k A7

(A) borrowed (XF23HCH)
(B) observed (HEt5iCH
(C) rejected (E51L)
D)

D) eliminated (H{AIGIC})
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[Referencel

E5| “that (those) of ..."= & 7H2| tHay2 H|m S o, 1 th&2 CHA| g
mf MQICH Q14 0ilAf OorRlo| &St 22Xt A A= o|RECISl "I
( 1 QlCt ol “that”2 “writing system” 2|

that) ot CI2X| it 2ot
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[Vocabulary]

affluence ©| 9|0j= Q15 2| “This age of affluence” 0 Al “This

age”7t HtZ2 2 E&2| “the golden years of Mayan civilization”&
7tel7ltks A2 Y4 g2 U 4 Atk affluence 2 9|oj= “golden

years"22E HME PES £ QCh “golden years’= ‘EZ7| g ot

HAICE Yrn P 0| VIZts Ji2l7ic

[Vocabulary]

Q16 2| LiE0| OtoF 2HO0| Tt Alof CHEt SIXtE2| Thtst &5 M

=2 AYS G50l £ untenable 2| 90|E =5 2Xt Q16 2

ZHHE “... while others contend that rapid population growth in

urban areas had made living conditions untenable .”0f X 22t
Qlto] WHoZ ek 2740 OfEA HV(0l 0foF 2F0| HYHM=XIE
M2 =, 7HE e €2 (C)oltk

[Factual Information]
Q17 of A otof 2
Al719l GA=E & 4 gict &
OtoF SAtel = 7|A|CHof 2 gt
AHOICT

[Vocabulary]
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native population. Unable to keep up the fight, the empire fell
once and for all in the early 16" century.
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and its inhabitants. Still, the inhabitants of these city-states
were allowed to continue their lives as they had under the old
rule. @21 Many city-states to which the Maya laid claim
operated almost as jautonomous political entities, with their
own customs and values.
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Vocabulary
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power was swift and violent, but the length of their reign was
cut short both by civil war and European interference.

Two brothers quarreled over who was meant to take the throne
upon their father’s death, and the argument led to a debilitating
period of infighting that left the empire greatly weakened and
contributed to its eventual failure. Q26(F), (G) Around this
same time, the Inca suffered attacks from Spanish explorers,
while the spread of European diseases took a severe toll on the
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| Each culture ruled its domain in a different manner. The empire
i of the Maya consisted of a loose confederation of city-states
! and kingdoms spread over a vast region. Q20 Q22

i Incorporation into the Mayan civilization could occur in a

i number of ways. For instance, the Mayans arranged marriages
i between their own sons and daughters and those of the city-
| states they wished to conguer, thereby bringing them into the
i fold. Other methods were not so peaceful. Many cities were
| taken by brute force, their leaders tortured and ritually

i sacrificed. Once the cities were overtaken, a blood relative of
| an established Mayan ruler was usually given control of the city
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Q24 The Inca were far less charitable to their conquered
subjects. They were more aggressive in the spread of
culture than the Maya, and they forced their own values upon
every tribe they conquered. [} 'Q23(A), (B) ., Q26(D) , They
also established their own religious practices as the state
religion of the entire empire, eschewing many of the cultural
practices of the tribes they overtook. Q23(D) To ensure an
Inca way of life in their far-reaching empire, the Inca would take
the children of the ruling class of conquered territories to the
Inca capital of Cuzco and educate them thoroughly in politics
and religion, then send them back, ready to take the throne of
their respective territories and enforce the Inca ideology, when
and if the time came. m They thought that all these
measures were necessary to ensure loyalty among their
many different territories.
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22

23

24

RIZ0IM BAIE 20| X0 MBS J1E ¥ BN 2¥2 02 B of
2N BHS HE Metstel 28 oloj7t BRI F2 HEvt Klelg
4 9t

51 L] 7t A=

- AA
(C) Y7tk Otof Atole] Mo 7t X=2 Hatet 0 4|k Rict
(D) Y7t =2 Yol 522 EfAs UUT 1 &A1t F 0t50| MZ2E
AHE XS ARG EIRACt
them 0| 7}2|7|= A&?
A) arranged marriages (S0 Z2&)

( es (5
(B) the Mayans (010FR1S)
(C) other city-states (CI2 =A| 27+5)
(

)
D) sons and daughters (0Ot @&

autonomous 2t 2|0|7} 7V 747k A2

(A) independent (=21%)
(B) consistent (Y=l
(C) successful (43021
D)

D) reliant (°|&5t=)

jin}

£r2t 401A DlOKISS ZES Ol BHOE 0IZHETN?

(A) Z ARBIS T B2

(B) 12 20| et XIS 240 H=S HEAY

(C) F5T ¥F0| BES RANIY

(D) 21+ 2315017 0jofo] JHXIS A

B2 5014 7P} KHAIO| 2EHE SHALAI|| 915 ARG o] Ofd
%7

(A) 2E 21701 25K BES 3TN

(B) 27t 318 =t

) 2% N=ASS 125D 5

(D) T2 2550 0210152 REAIY

Er2t 50IA] U7t Chsh & 4 QU= 222

(A) HI=0] (tl“%\

19

20

21

22

23

24

and values”0l Al autonomous °| °|0|= Z& 7l £&2

[Sentence Simplification]

HAE 282 M BECZ U= + UL

Ho

@ Two brothers quarreled over who was meant to take the
throne upon their father’s death, and @ the argument led to a
debilitating period of infighting @ that left the empire greatly
weakened and contributed to its eventual failure.

@ = = Yrle Y/IE ST THES HLh

@ = 0| O}E2 HEHSE7tX| 0]0{7HiLt

Q@ = Uixdez &=0| AE/oto ot =RAC

R0 HEE 1Y & 27! A2 (A)oICh (A)oIM Dzt @2 = “Along
and bloody civil war between two potential kings”2 7H&3|
RUEIRNT, @9 LHE2 “damaged the Inca Empire and precipitated
its downfall’2 &ZiCt,

[Referencel]

Q20 “... Mayas arranged marriages between their own sons and
daughters and those of the city-states they wished to conquer,
therefore bringing them into the fold.”ol A “fold”& ‘O AtZHo| &6t
' g Soh= Ao, otoF B ALSIE 7i27Ich o] 2&2 0tof X=0]
tE AZIE &46t7] 2ot H9 o2 MAI=RACt, et them O
fel7l= A2 RAS

It & g

o]

N

oﬁ E r\m r

“the city-states they wished to conquer”0|ct,
27]= (C)olet,

[Vocabulary]

Q21 “...as autonomous political entities, with their own customs
Ol O HME
2= QIC}, O1oF M=ol ZEYe A== 7|&S] TEn 7IXIE KA
o [e]]

9l
Ch= HolM FxIxez =2H0IRich= e o 4 Utk B2 A).

=2
=
o

o

=
A O]
T

A

[Factual Information]

Q22 0l M CHE F&= Ofof M=ol SEAI7|7] fIgF +Hez B& 719

222 2H5H ek,

[Negative Fact]

Q23(A), (B) Ol M 27t 22 Y7t X|of THE flet 2uE +sIAUT,
77t miX|Hl £E9| 255 FXIAZCIL o122 (A), (B)= Y= Ao
Q23 (D) OllM Y7t 2H2 H=st GOl XHiES2| IHAS £E2 Hj2]1 oM
7tel HXIH Smol thell HXs| ngAZCHs WES2LE D) %=
Aot (C)= Y7t 2F0| Xt 2He Hufsty| 9I8t +Hto] otLlet
olor 20| e BE2 F=2 1 ARSe ggoloh

[Inference]
Q24 o M Y7t 11\39 Ef —Erifoﬂ oo a2 Ef=5 EOIX| LU2n,
el 252 Kb BIENA Z23Ct o AIZ2EE F2

(Aolct, (B), (C), (O )01| UHE LIEE 0| XI20A= & 2 QlCh
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ojct.
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EE Yrlet o] gl
ABSIx| Q=L 0f A 3

k=1
=

12

o3

024 20| MEier EE sligsie =0l A2 HE FAoHE &
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2 22otAR. XIZS CHA| EaiH EIAEHT|S Z2l5tA|2,

ofok

e (B)

LX(@®)

Y7t

® (D)

o (F)

[ X(e)}

(A 52 Mz 2oAlg d3ict

(B) 2%fet 2t MAE L™AIZCH

(C) HcH$t metn| =5 7MS He 2 defRict
(D) &l MY HAE Zict

(E) REIS0| 22 1 259 =AIES vt
(F) RS ZARol| ofsH THuHHCt

(G) 2A17| of5t St AopRtct

25

26

[Sentence Insertion]

M A 22X “all these measures” 7t X|AlGts A4S SOFE AL
A 20| 5012 0iX|ef S22 U7t K=ol ARIC| 23HE HE X[Hol
SIAA|IZ|DAF AFREH 2ol sl LERCE of7|A “all these measures”=
o H=oilM A8 ol oF WRBHS Jt2|7|= 20| OtLfat, o] Ti=ollA
OIS HE WHS HTGICH Mt MY 2F2 o i 2ol Yo
=017k= ZAof =HEsICH

[Schematic Table]

(A= A =X LUATH

(B= otoF 2ol &5t LIZo|ch FEe| Tl et 29| |Q26(B) “The
Mayans also developed a complex writing system ..."0I N && 4
RUCt Y7t 2F2 2Rt QAL 0172 T2 32| Q26(B) “Since they
had no known writing system ..." 0| A £fQI&F 4= QJC}

(C)= otof 2o &5t LEolct HEo HAe ©e2t 22 Q26(C)
“Mayan architecture is best known for producing giant step
pyramids ...” OlA &2 2 QlCH

D)= Y7t 2ol &6t LHgolct MEel thas thet 59| Q26(D) “They
also established their own religious practices as the state religion of
the entire empire ..."0lA] &S £ QlCtH

(E)oll &st L8 AZ =X AUTH

(Fl= Y7t 2ol &5t LHgolct Mol thals T2t 32 Q26(F) “... the
Inca suffered attacks from Spanish explorers ... Unable to keep up
the fight, the empire fell once and for all in the early 16" century.” 0il A{

A7t ZHO HAb= 14M|7] =80l AIREACHE AT 22 ZEHOf
ofx|et EEolAM Y7t S0l 16M7] =8| Y= AMdoIM HE 4
ULCH,

222
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© botanist AIS5IXt  monk AL offspring Ak~ pollination &2  analogous SAISH  trait EX| {2l
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a inherit 221 2Ct  consistent 2&t=l  dominant A8t recessive €440  stand up to (A|ZS) ACLCt
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g speculate =25iCH MAGICE  molecule 22Xt deoxyribonucleic acid CIZA2|&E aiA transmit ST
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224  Answer Key & Explanations

In the 1860s, an Austrian botanist and monk named Gregor
Mendel began studying the characteristics of pea plants.
Specifically, he was interested in the way in which pea plants
passed on their characteristics to their offspring. ] Mendel
chose to work with pea plants because they are not self-
pollinating. Q27 Q38 Unlike some plants, pea plants are
distinctly male or female and require the presence of a pea
plant of the opposite sex for pollination. In this way, they
are roughly analogous to humans and all other mammals, and
it is for this reason that Mendel chose to study them. [8J

In his experiments, Mendel selected seven distinct traits in pea
plants, such as plants producing round seeds versus those
producing wrinkled seeds, or tall plants versus short plants.
Mendel then spent years breeding plants with different
combinations of traits and observing the results. What he
concluded was that each trait is controlled by a gene that is
passed down by the parents. For example, there is a gene for
pea plants with round seeds and one for plants with wrinkled
seeds. |Q31-1 Mendel also concluded that a new pea plant
must inherit a full set of genes from each of its parents. Q28 In
cases where a plant inherited the gene for round seeds from
one parent and the gene for wrinkled seeds from the other ,
the new plants would have round seeds. Such consistent
results indicated that one particular trait would always manifest
over another trait. [@29-1 This led Mendel to conclude that
some genes are dominant and others are recessive. |Q29-2
Characteristics that are controlled by recessive genes — like
wrinkled seeds in pea plants — only surface if an organism
inherits the recessive gene from both of its parents.

Q30| Although it was greatly expanded upon in the 20"
century, Mendel’s basic theory has stood up to more than one
hundred years of scientific ‘scrutiny , and a whole field of
scientific study, genetics, has arisen around it. |[Q32(B) It is
now known that the genes about which Mendel only speculated
are actually long strands of a complex molecule called DNA
(deoxyribonucleic acid). | @82(D) Each gene carries
instructions for the production of a certain protein, and it is
these proteins which determine the traits of an organism. We
also know that genes are transmitted in structures called
chromosomes . Chromosomes are long chains of genes.
Q82(C) Humans have 46 chromosomes, receiving 23 from
their mothers and 23 from their fathers, and the chromosomes
pair up together into 23 separate pairs. Q33 Actually, each set
of 23 is basically a complete genetic package, but since some
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27 izt 1ol M o] XAO| A g AEZ02 NS 0lRE?
(A) T2 ASEC 7|2717} $19IA
(B) AAILEI0] REO} BIAHA
(C) ol Hu2 2247 H2of
(D) Y MBO| ATHES Bt 0IR2 7B T E0/7H U0IA

28 the other 7} 71271= 22?

29 izt 2o mEw siko| YR SF

30 scrutiny 9f olnj7} 74a B2t 227

(A) investigation (Z=Ab
(B) opposition (EcH)

(C) application (X&)

(D) theory (012)

31 =xpyl DNA o HMF| = o1Zst 0]9=?

(B) e dEs 28 2 Rifcts As
NSt =i

(C) E8 |TXI7t Ch2 [AIXIof His of L4011 of HAHIXIS
Asteil

(D) O] 0|20] LIB0 YA U= BT

32 ool 2izo) 022

HEsh= W&0| ofd #=2?

(A) EF SR O REXOf Hish 0EA /US Z=Xoll Ciet 849
(B) SIS et RAL

(@) R7IM0fl U= Xt 4 AED WX 2R

(D) o E3lg BHsoiui= |l 23

27

28

29

30

31

32

[Factual Information]

[Referencel]

Q28 “... a plantinherited the gene for round seeds from one parent
and the gene for wrinkled seeds from the other ..."0IlA 2&
222 st dof2|2 £0 H2| 51H “inherited A from one parent, and B
from the other "2t Z0] =0 0| 222 HHE 0|2C}. 0|, the other
£ “the other parent’E 2J0|&tS & 4~ QUCt

[Factual Information]

Q29-1 “This led Mendel to conclude that some genes are dominant
and others are recessive.”2| T= WES HmEXL Q29-2 oM S
SHO| LIEH M £ ER 28 E g2 QUL 25 SdY gt 7kssitin

L5t ek,

[Vocabulary]

Q30 2| “Mendel’s basic theory has stood up to more than one
hundred years of scientific _scrutiny ...”°| & &l 22 & “stood up

10" (A0l AlIS) ZAciCk ofolct. @o] 0j=o0]
10010] HES 20 AJZI0] RoIx] ™ ge 2w L2
aS Biz Mol 0|22 HBsHs Sl

= e A
Y2 (A

ele &2 X

i
B ooz
H>

2t
Al

AfQ]

o n
B o
e rjo
N

olct,

[Rhetorical Purposel

[Negative Fact]

thef 32 BiIZol 0|20] oIt ntels Salf 08 @t =X dHstn
Qlct. (B)= Q32(B) “...the genes about which Mendel only
speculated are actually long strands of a complex molecule called
DNA (deoxyribonucleic acid)’2 £E, (C)= Q82(C) “Humans have
46 chromosomes, receiving 23 from their mothers and 23 from their
fathers ...”2 28 (D)= Q32(D) “...itis these proteins which
determine the traits of an organism.”of A 2t218t 4 QICt HEHLS (A).

PART Il Actual Test 225



Actual Test 2 Passage 3
i genes are dominant and some are recessive, the redundancy i = A 2 oXl= Aolct
| evens out. !
| |
| |
Higlo] 2 0|29 EXIF i Mendel’s observations led him to a simple and elegant theory i oo BAS =) Zictstn Halst 9 EE
@ W] AT o] ALK i of heredity, but while the basis of his theory still stands, reality i 0|22 =&si=r 19| 0|29 7|2= X35
QXA AL SHLC] ! has not proven to be quite as simple. Any living organism has ! RESI SIX|TH AAML o|R0IE 7IHGIK| ¥
@ xS o 5 2FxI0| Ol ! thousands of genes. For example, fruit flies have about 13,000 | ct ZE AoRQle R7IHE £H 719 XIS
Al 240 OfLj) 4 e i sets of genes, and humans have somewhere between 20,000 i JEX|1 QL) oI S0f Eofel= 2F 13,0004
Sxixtol xstol et LakxIch | and 30,000. Q34 Q35 Adding to the complexity implied by I RUAIE 7HKI Qlen QIZk2 2BtoflAf 38t K
i the sheer numbers of genes is the fact that many traits are | HEE JIX|T QICh £&XE| 2Xt2 Qs o7 g
| polygenic; that is, they are controlled by a combination of tens 1 = Exbste QIX|ph ote mi=lo| AASHE  Zix]
i or even hundreds of genes, rather than by a single gene as i 2 SILto] QXAtZ HEIS0| EfMEH= Zi0| Of
| Mendel had envisioned . So while his experiments produced B EIP I, BE 48 Jjo] A} xEo=z
i black and white results (a pea plant had either round or i M7= Zdol2te M= O 2EE JiEsAlZICH
| wrinkled seeds), the interactions of genes in determining traits | OefM 19 AEe  chash SuHo| AN ELR
i are often not so straightforward, and there may be hundreds or i L SOM Ol FEXI ME J1HCHE LIERS
| thousands of possible outcomes. Only through the intense |OXRE SRS AMSHE STAN ZER RE O
i study and comparison of different genetic arrangements in i || ZICISIX| Yon 4t 52 LM Jio =gt
! organisms can these combinations be understood; L JksdE JEXIm Qloh R7IAPZE ZHRID Qe Z
| consequently, the study of genes and traits is now one of the | 7| 2 SXXt HES mEXoZ HTEtm H|
i most rapidly growing sciences in the world. i el 2oforat AL REHE olaE 4~ ot A
1 | ooz [EXiet RMAL SHo| TS ATE
| LB Aol Tt mE A WD Qle i)
| | &2ofolct
| |
| |
SXsto| Ehxn} Mat i Genetics has had a huge impact since its inception as a i oxste ZolE o2 mfsto| oF 202 A X|CH
, scientific field. In the first years of the 21 century, major | ot HEFS OI™RACE 2147 = ¥ W =0t nist
i developments have been made in the field that have i AS0| SFXE Higtes AlZte 3 dips
! transformed the way scientists view genes, making geneticsas | S 2 ZIF0| A1, |XSI0| 0|20i|2t HEX|
i applicable as it is theoretical. While what earlier scientists i ot 225 JtssHA Siict 7|1&E nfeiREQ
! envisioned was largely limited to investigating the genes of L ol (RS MEo| QRS ZARH 0=
| organisms and classifying which genes controlled which traits, | S&XPIt o= FES LIELI=X0f 25t/
i recent advances in chemistry and molecular biology have i o 22 stelnt 2XF MEste| WMoz skt
| actually allowed scientists to begin to alter those genes. The | E0| REXE HYE £ U =ct ol2fst
i implications of this development are nearly infinite. While still in i L0l YABls A2 25 HodE 4 QI B
| itsinfancy, this new science, called genetic engineering, has | Ch ORRl2 Z30F HAof Satstx|Rt RTE 0]
i allowed scientists to change organisms in fundamental ways. i 2= M22 2Heio| dALIEM TeiEe |71
! Scientists can now deactivate harmful genes, promote the LOAE 2EXNez HYY o QU =RACh ARt
| function of useful genes, or introduce foreign genes into an | E2 OlX S22 SMXIE HIZMEEI R8%
i organism to produce an entirely new trait. Q37 Such technical i KXY TIsE SHstetALL, &Hls] ME22 &
i capacities |bode well for every biological field from | AS M| St o REXIE MY 4 QU
i improvements in medicine to a more perfect understanding of i Ot Jefet 7laX Aoz ofsto] Yo MR
| how life-forms develop and evolve. L AHATE ofg LSt TstoheXxl & o @
1 | =45t olalioll 0l27 Ee S 423 2o} gl
| o] i,
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§ combination Z&f consequently Zutx{o2  impact &sF  inception &, 20[S2!  transform HiFCE  applicable 225t 4 Q=
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(A) problem (2A])

(B) technicality (2% Az
(C) repetition (B£)

(D) transmission (M)

B e s folel D
(C) Cieyst TRt Mg Masto 2
(D) iR S2o| oA ZHE= XS Mol

envisioned 2| o|o|e}t 7+EF H|REH A7

(A) imagined (&445tCH
(B) required (ZL5tch
(C) represented (LtEfLHCH
(D) tested (Al&{5tcH
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(A) are a good sign for (AZ=7t £2)

(B) are necessary for (~0f A 228h

(C) prevent the growth of (M&E 2lslichs)
(D) are possible in (7ts4 A=)

[Vocabulary]
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olshatH F&& 4= QUch ofH{LIet OMAX|OIA S22 JMF| 2| T4t
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A0| ZefeA 46719 FMAE ZA ==, 23712
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= $ =~
A= IS R HEHo|EZ LHX| 2371= XISHCR S5EE
& 4 2/Ck 0|25E redundancy of oloj= ‘F=' 9| Aot UgS ¥
_/'\_ olr|
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Q34 oM FTIXIS| 4= HHO| o 4FE 2 2t EM D XXt
HAE A 8 Ofo] ML o2 APECIT UST Ch Xt
HIEo| ofl A3 A 2ot XXt YRO| iR S35t ™S HA Z2FEC=
e dFgo=M MR A9l 2SS FerEstn ot
[Vocabulary]

Q35 of| M B0 envisioned 3 A Hot R YEo A 1HO| 0fL
2REE o 4~ QI envisioned = 2UA AASIC o &SI 2=
oot AUSE U 4 ULk,

[Sentence Simplification]

=9 *2let 22 ofliet 20| F —.——-—OJE_ Lol Xi=dl, @2 71E9
wﬁﬂé.*oﬂ)d CHROIAIE LiE0]1, @= Bithol RTXSIOIM ChR0Xl=
Lol

While @ what earlier scientists envisioned was largely limited to
investigating the genes of organisms and classifying which genes
controlled which traits, @ recent advances in chemistry and
molecular biology have actually allowed scientists to begin to
alter those genes

@ = 7IZ SHstk M| 242t0] QAL 717l HUES W
@ = Bt} RHstol S RIS HEAY

AR HHE I & g7 A2 (B)oIE. D2 “Earlier scientists could
only label genes according to the traits they controlled” = HF‘FE
= “modern scientists can actually modify genes.”2 B
Z20M @, @ “while’2 Aot UxEls T HEE HHH A

H7|0A= “but”= HHYRALE,

HJ\O =

[Vocabulary]

Q37 0l A “such technical capacities”= A0|A HZE STX}t S5t
7|=9| YTHE Jt2l7Ich, RUXL B8t lee WHoz ME o
HSFS 7IME XIE Mzsh 23 bode well for 2] o|0|2 ZxfE 4 Qlot

HEf2 (A,
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